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A monopolist fi e

firm faces a demand with constant elas-

0. It has a constant marginal cost of $20 p
1aximize profit. If marginal
percent, would the price
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A firm faces the following average revenue (demand)
curve:
——

M; P =120 - 0.02Q

where Q is weekly production and P is price, measured
in cents per unit. The firm’s cost function is given by C

600+ 25,000. Assume that the fipm m
. What is the level uf\py({ftniun. pricg/and th
ofit per week?

7 If the government decides to levy a tax of 14 cents

per unit on this product, what will be the new Teve

of production, price, and profit?
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Suppose that an industry is characterized as follows:
,/ P /. |
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‘F'% MR = 90 - 4Q < ind@norginol revenue curve
If tfere i\’irm in the industry, find the

A), |
q/ onopoly price, quantity, and level of profit.
b. FiAd the price, quantity, and level of profit if the
mdustry 1s competitive.
¢y Graphically lTustrate the demand curve, marginal
revenue curve, marginal cost curve, and average
;h’ cost curve. Identify the difference between th
profit level of the monopoly and the profitievel
of the competitive industry in two differént ways.
Verify that the two-as reatty equivalent.
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. Suppose a profit-maximizing monopolist is producing
#5 of output and is charging a price of $40 per

2mand for the product is -2,

‘&. = £
G

firm’s percentage markup of price over

uced is $15 and the firm'’s fixed cost is $2000. Find
the firm’s profit.
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8. A firm has two factories, for which costs are given by:

Factory #1: C, (Q;) = 10Q7
Factory #2: C,(Q,) = 20Q3

The firm faces the following demand curve:
P =700 - 5Q

where Q is total output—i.e., Q = Q, + Q..

a. On a diagram, draw the marginal cost curves for
the two factories, the average and marginal revenue
curves, and the total marginal cost curve (i.e., the
marginal cost of producing Q = Q, + Q,). Indicate
the profit-maximizing output for each factory, total
output, and price.

. Calculate the values of Q, Q,, Q, and P that maxi-
mize profit.

. Suppose that labor costs increase in Factory 1 but
not in Factory 2. How should the firm adjust (i.e.,
raise, lower, or leave unchanged) the following:
Output in Factory 1? Output in Factory 2? Total
output? Price?
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9. A drug company has a monopoly on a new patented

medicine. The product can, be made in either of two
p¥ints. The costs of Mu‘tiun <y the two plants
%,\K =20 C??:dm X1C, =10 G)j . The firm’s esti-
mate of demand for the pm;iumsl’ =20 3(Q, +Q,).

How much should thg, firm plan to produce in each
plant? At what price ghould it plan t the product?
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A monopolist faces the demand curve P = 11 — Q,

where P is measured in dollars per unit and Q in thou-

sands of units. The monopolist has a constant average

cost of $6 per unit. -

m and marginal revenue curves
and the average and marginal cost curves. What
are the monopolist’s profit-maximizing price and
quantity? What is the resulting profit? Calculate the
firm’s degree of monopoly power using the Lerner
index.

. A government regulatory agency sets a price ceiling
of $7 per unit. What quantity will be produced, and
what will the firm’s profit be? What happens to the
degree of monopoly power?

. What price ceiling yields the largest level of out-
put? What is that level of output? What is the firm'’s
degree of monopoly power at this price?
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